Solutions l Opti 501

1/1

Problem 2)

b)

a) A{_ __ | n {‘Z' ; —-iwt! |, +teot
fi)‘z“;‘ ; ftt)e d{—fe Aw =

i

: 5 ¢ iwit-th) n
co(f-t >
2,,/ A A L R ey s
a1 L clE-t) I,
.Jué-t) -t Rt t ‘
“f feh e -e ' = [ fogy Al
and (k-1 f{ TLE-t)

/—'/\_/\‘_\——/—\

wéz ¥ /.
2./f T = fit) fﬂt)( YAce[ = (k1)) A
\J_L/f\_/—/

—~—
At (8) & praked aff:o,ﬂo'wt, pond Kan W S W/
(%) A«L(%—f) 5 el | navgwo | MJ‘%M Mma, winel reans
Hooy 4o’ Mpr Aend N = o0, ttu el om %A;c{%f) - 5it).We
Hass tne | Auf ctently darge 02,

a 2 , o /A\——/\—/\/_
fh = [ fysu-tyde’ A KIS Ly Ltk
4 PR 80w

When t Lt prt > t; |, U ,ﬁu—ofw (f—)AhrTS}.H-_M“) wn peabed at

ot whneb io pkside len adbwsd (4,6, Wik et (5, 4)

T s i, lhan A foecbion 5 Jo Jitllins i) 20
N

N/



Mansuripur
Text Box
1/1

Mansuripur
Text Box
Solutions

Mansuripur
Text Box
                 Opti 501

Mansuripur
Text Box
Problem 2)

Mansuripur
Text Box

Mansuripur
Text Box




